An example on calculating the weighted grade average

The grade of the course, study module or other entity is multiplied with the number of credits, for example
Game technologies, 15 ECTS credits, grade 4 ( 15 x 4 = 60
These are calculated for each numerical evaluation in the degree certificate. If a study module includes courses which are evaluated only on a pass/fail basis, these are not converted into grades.

Mathematics, 15 cr, grade 3			15 × 3 = 45
Object-oriented programming, 5 cr, grade 2		5 × 2 = 10
Databases,	5 cr, grade 4			5 × 4 = 20
Product development,	10 cr, grade 3		10 × 3 = 30	
Game technologies, 15 cr, grade 4		15 × 4 = 60
Thesis, 20 cr, grade 3			20 × 3 = 60
Basic practical training, 20 cr, grade H		not taken into account
Professional practical training, 10 cr, grade 5	10 × 5 = 50 	

The grades weighted with the number of ECTS credits are added up:
45 + 10 + 20 + 30 + 60 +60 + 50 = 275
The weighted average is obtained by dividing this sum with the sum of credits from numerically evaluated courses:
15 + 5 + 5 + 10 + 15 + 20 + 10 = 80
Weighted average grade = 275/80 = 3.4375
This is announced to two decimal points 3.44
